

			Vendor	Ranking			Page 1 of 1
Letting:	01240516	May 16, 2024 11:00 AM	Call Order	: 005	Contract:	E1X12-R0	
District:	District 1		Counties:	DIST/ST-WIDE, GLADES	Fed Aid No	: N/A	
Contract Time:	365 CALEN	DAR DAYS			Project(s):	43274417272 (*	ʻ)
Contract Desc	Cuardrail De	ant Chaulder Dowerk Mine		mont			

Contract Desc: Guardrail Reset, Shoulder Rework, Misc. Asphalt Pavement

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	CONTRACT SERVICE SOLUTIONS, LLC	Responsive	Winning bid	\$1,021,306.14	100.00%
2	COLLINS LAND SERVICES, INC	Responsive	Non-Winning Bid	\$1,061,717.50	103.96%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$1,161,056.42	113.68%
4	SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC	Responsive	Non-Winning Bid	\$1,598,594.00	156.52%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



05/16/2024

Tabulation of Bids

Page 1 of 3

Letting:	01240516	May 16, 2024	Call Order:	005	Contract:	E1X12-R0
District:	District 1		Counties:	DIST/ST-WIDE, GLADES	Fed Aid No	: N/A
Contract Time:	365 CALEND	AR DAYS			Project(s):	43274417272 (*)

Contract Descr: Guardrail Reset, Shoulder Rework, Misc. Asphalt Pavement

The work under this Contract consists of Guardrail Reset, Shoulder Rework, Miscellaneous Asphalt Pavement in Glades County.

Line No / Ite Item Descri		Quantity Units	(1) CONTRAC SOLUTIO		(2) COLLINS LA IN		CONSULTIN	ANAGEMENT & G OF FLORIDA
() indicates in	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SEC	TION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
0005 0339 MISCELLANEC	1 DUS ASPHALT PAVEM	1,205.000 IENT TN	345.00000	415,725.00	450.00000	542,250.00	400.00000	482,000.00
0010 0538 GUARDRAIL R		32,132.000 LF	18.40000	591,228.80	14.50000	465,914.00	19.60000	629,787.20
0015 E577 SHOULDER RI	-	10,710.700 SY	1.34000	14,352.34	5.00000	53,553.50	4.60000	49,269.22
	ASPHALT REPAIR Se ECHANICAL) (TN)	ection Totals:	I	\$1,021,306.14	I	\$1,061,717.50		\$1,161,056.42

Contract Grand Totals:	\$1,021,306.14	\$1,061,717.50	1,161,056.42
------------------------	----------------	----------------	--------------



Tabulation of Bids

Page 2 of 3

Letting:	01240516	May 16, 2024	Call	Order: 005		Contract:	E1X12-R0	
Line No / Iter Item Descrip	tion	Quantity Units	(4) SOUTHEAS GUARDR	RAIL &				
() indicates iter	n is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN								
0005 0339 1 MISCELLANEOU	IS ASPHALT PAVEN	1,205.000 IENT TN	500.00000	602,500.00				
0010 0538 1 GUARDRAIL RE	SET	32,132.000 LF	11.00000	353,452.00				
0015 E577 7 SHOULDER REV		10,710.700 SY	60.00000	642,642.00				
	SPHALT REPAIR Se CHANICAL) (TN)	ection Totals:		\$1,598,594.00		I		

Contract Grand Totals:

\$1,598,594.00

FDUI

Page 3 of 3

Letting:	01240516	May 16, 2024	Call Order: 005	Contract:	E1X12-R0	
		NOTE [.] Failure to	o file a protest within the time pre	escribed in section		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.